Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - | « EXAMINATION - WINTER- 2017

Subject Code: 3351905 Date: 16- 11- 2017
Subject Name: ESTIMATING,COSTING AND

ENGINEERING CONTRACTING
Time: 10:30 am to 01:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctlotl scllol AU,
Write the advantages of cost estimation.

slke ANt oll $LLEL wRUA.

Explain Man — hour rate method for overhead allocation.
QRAUI W ofl ARl ofl Act-ucR 22 A UM
Explain variable cost with examples.

UAlA WA GelslREL Al Ul

List the elements of cost in Gas welding.

A Acslol W ol uesl ofl auel .

Explain Sprue loss in forging.

S0l i Y AlRL AHestAll.

Define pattern and list different types of pattern allowances.
el ofl cautvaul wl. A (AU YsiR ol Veol wewie ol ael wl.
Define (1) Set-up time (2) Machining time.

cqluRdl UL (1) A2 — AU yHA (2) Hllollor au .
Explain budgetary control in brief.

olge3 vigal (AN 25 Ui aulal.

Define (1) Book value (2) Salvage value

cluAl AU (1) o5 A (2) AcAx A,

Define tendering. List the types of tendering.

2530l ofl cautvaul WL 205300 otl YsiRA ofl atel wl.

© 06 N o £ X bW N o

o
oo™

Q.2 (@  Write a short note on Margin of safety.
Y2 () Heslet 3llg AL (AN gsellel cull.

OR
(@)  State the limitations of Breakeven analysis.

(A) as Bclol Wallc{lu ofl HauleL wRUA.
(b)  Prove that Qb = F/b-a as per usual notations.
(W) UM Aol A ol tllot HL ALl A Aol 5A ¥ Qp = F/b-a
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The fixed cost of an industry is Rs.75000, the variable cost of each product is
Rs. 700.1f the break even number is 750 find the selling price of each product.
Find out profit if industry produces 1200 products.

As SUall oll el W 3. 75,000 & vl UAlA WA yld Wsse 3.
700 8. %l A5 Bclot oled? 750 dlal Al Yld Wlsse AuRl (U 0.

%l $Usll 1200 Ulsse clollaldl dlat Al A ol o5l 20l
Explain the procedure of cost estimation in Arc welding processes.
LS AESDL YA Hi Slee AN 6t ofl At AHest Al

OR
Four plates each of 1000 X 500 X 5mm are to be gas cut from an M.S.plate of
size 2000 X 1000 X 5mm. Find the cutting cost. Consider (1) O2
consumption =5 m¥/hr., (2) Cutting speed = 12 m /hr. (3) cost of C2H2 = 100

Rs./m3,(4) CyHzconsumption = 2m/hr,(5) cost of Oz =30 Rs./m®nd (6)
labour = 40 Rs./hr.
2000 X 1000 X 5mm ol Aes33 o{l Ws AH. A, W@e Hidl 1000 X 500

X 5mm A% ol AR A2 AU 52101 Ul cletlalall Hi 1A 8. % (1) O,
cuRlel = 5 mihr, (2) s2lot ¥ls = 12 m/hr. (3) CzH2 oll (5Hd = 100
Rs./m3, (4) CoHp MR = 2m3/hr , (5) Oz ol (SHA = 30 Rs./m? (6)

U3l = 40 Rs./hr. &lal l 53lot Wl 20wl

The catalogue price of motor is Rs. 10,000.The discount given to distributor
IS 10 %. The selling overhead is 25 % of factory cost. The direct material
cost, direct labour cost and factory overheads are in the ratio of 1:4:2.1f the
direct material cost is Rs. 800, calculate be the profit on each motor.

As Her ol 32l (BUd 3. 10,000 B. [AcdRs A 10% (38162
BUUHL A B, AURL 0RAUD WA ¥sedl W ol 25 % B. slaRse
HElad Wl , staRse 13l Wl el 3523l 2RUI Wl 1:4:2 ol
YHRL Hi B. ol slaRse Hallad Wl 3. 800 &lal dl €35 Hl2R AUdl

o5l 2.

OR
A lathe machine is purchased at a price of Rs. 60,000 has its useful life of 15
years. Its scrap value is Rs. 10,000.Calculate the depreciation per year by
sinking fund method. Rate of interest for depreciation fund is 12%.

As AU H2llot 3. 60,000 Hi WIleclHl WA B wa Aol GuAd(l
leoll 15 ad B. Aoll ciouR sl 3. 10,000 B. Aol YUURL §S UR 12
% <l cdouaelHl AU dl Alslor s Aas &l Aol ydl add vl

$s .
Describe the cost elements of foundry process.
516Gl WA oll W oll uesl of adlet 53,

OR
Define (1) Shape weight (2) Net weight (3) Gross weight.

cluAl AL (1) AU A8e (2) ol Ase (3) AU Ase .
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Write the short note on pattern cost estimation.

Veol slee ARINAA (AN &5 olltd AU

OR
List various forging operations and explain any one in detail.

Qe $1%Tol BAURAetall ol 2L€L Q. oA A As ([AdldalR

AHestal.

240 M.S. pins of 6 cm diameter and 12 cm length are to be produced by drop
Forging from 9 cm. diameter bar stock. The cost of bar stock is Rs.
180/meter.Estimate the material cost of pins. Assume all necessarv losses.

9 cm calld ol Aoflaw 1l 6 cm cau A 12 cm doltd ol Ulall QLU
slosToL Al otottactsll 8. uoflan ol (SHd 180/meter Sl AL otell AlR{lAL
ofl tRel 531 ot 12 ot HAZlAA WA ol AEL 53l

OR
Determine the total cost of 400 C.I. pulleys of 1000 cm? volume. Consider
(1) Pattern cost = Rs. 700, (2) Cost of C.I. = Rs. 20/kg., (3) Wages to the
moulder = Rs. 60 / day (4) No.of moulds prepared = 25/day/moulder, (5)
Process scrap = 10 % of Net weight (6) Cost of process scrap = Rs. 4/kg., (7)
Melting charges = 20% of material cost (8) Overhead charges = 25% of
material cost (9) Density of C.I. = 7.8 gm./c.c. Also find the rate of casting
per k.g.

1000 cm3 ol C.I. oll 400 Ycll 12 ol Wl Q8. (1) Yeol Wl = Rs.
700, (2) C.1 oll (84l = Rs. 20/kg (3) H\ESR of MEY] = Rs. 60/ day
(4) Hles ofl dvall = 25/ cd/HAASR (5) WA™ BU = 10% A2
aA%el (6) WAU BU ol [(SUct = Rs. 4/kg (7) Aot A =
A (B oll 20 % (8) BaRds AN = HAlIaAA (BHd ol 25
% (9) C.I oll el = 7.8 gm./c.c ®. A Bloun siREloL ol wl

yeL 2.
State the steps of calculating shaping operation time.

AUloL AUt oll AHA ofl dLAletl woLlRaul UHostA.

OR
Estimate the time required for making 6 holes of 1 cm depth in a cast flange
by drilling. Hole diameter is 1.5 cm, cutting speed 20 m/min, and feed is 0.02
cm / revolution.

As AL Gst 6 8l ste sl HL slellot ol elotlcteltoll AHRL 0.
At oll cud 1.5 AHL B, sdlot dls 20 Hle:/ Hlelle ua $ls

0.02A.Hl./uiel ®. 0

The thickness of a C.1. block 10 cm X 3 cm is to be reduced in 2 cuts from
1.8 cm to 1.3 cm. If cutting speed is 20 m/min and feed 0.2 mm/stroke and
cutting time is 3/5 of total time, then find out shaping time.
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As C.I oclls 10cm X 3cemofl stes A se Hi 1.8cm Al 1.3cm
gelscll Hi A, % selot adls 20 m/min , $lS 0.2 mmi/stroke WA

53l oL UM = 3/5 A AHA 8l A ALl ol uMa AL

OR
A slot of 2cm deep and 10 cm long is to be cut in a M.S. job, using a milling
cutter of 8 cm diameter and rotating at 120 rpm.If milling is to be done in two
cuts and feed is 0.05 cm/rev, find the time required.

120 rpm UR $cll 8 cm cauaoll As HlcAlol 522 ad AH.AAU. ol
Hi 2cm GSL el 10 cm cioll WiA stuclell B. %l Mcllol 2 se i

scllo] 82 A $ls 0.05 cmirev dlat Al Aol vmal L.

The cost of active wheel washing powder packed in 1 kg. Pouch is Rs.26.
The plastic material for pouch cost Rs. 1 per pouch. An operator is packing
500 pouches in a shift of 8 hours. If operator is paid Rs. 150 per 8 hours shift.
Estimate pouch packaging cost assuming interest & depreciation. Power cost
per pouch is Rs. 0.15.

As (5 Aslal Sl Al utas: ol (Bud 3. 26 ®. WEAU HER
ol Wllls HAlZlAA ofl BHd yld WA 3. 1 8 . As U2 W6
sclls ofl (Blse Hi 500 WBAU Us 5 B. U2 a 3 150 yld 8 scls
Ysalaldl A 8. WaR sl yld w6 0.15 R 8. Al cauly lal
AR o Ul WEU UFAL 12 ol W Bl

Define contract and state the conditions of contract.

52 ol caltuAl AW Wl Aofl ARA QU

State the types of budget and explain any two in details.

082 oll YslR wRUA e oA A (Aol cll? UHsLl.

Write the procedure of estimating cost of power produced by diesel
generating set.

SRA o220l A2 oA W Geusr sal HI2 W iglsal ol 3ld

Ul
Explain approach and overrun with respect to milling operation.
lcllor 20uRetet ofl AN AYAU Wl AR il Yl
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